v

[

324

B.Sc. (Part-III) Examination, 2021

Question Bookilet Series

B .

LY

Computer Science

To be filled in by the candidate / Py et el wrd w¥)

Roll No. (in figures) - -

I (37wt ) - —

Roll No. (in wor ds) [ Time : 1% Hours

IS (vt ) [0 < 104 s

Enrolment No. (in figures)

Name of College . ——admiiiia Same Signature of Invigilator

DI BT T - o6 Frilas ¥ zemr

Instructions to the Examinee : shanf¥al & Rre e

1. Do not open the booklet unless you are asked 1. Y-YRAH B dd 9% 7 QS 79 aF I Hal
to do so. el

2. The booklet contains 100 questions. Exam-
inee is required to answer any 50 questions
in the OMR Answer-Sheet provided and not
in the question booklet. In case Examinee
attempts more than 50 Questions, first 50
attempted questions will be evaluated. All

questions carry equal marks.

. Examine the Booklet and the OMR
Answer-Sheet very carefully before you
proceed. Faulty question booklet due to
missing or duplicate pages/questions or
having any other discrepancy should be

immediately replaced.
(Remaining Instructions on last page)

2. wE-gRa@ ¥ 100 we &1 el @) Rl

v B & T 3MoenostRo AR | Q-
ST 81 e gy 50 /A Aftrs v B 2t @
ot Rufer &, wom 50 3R @ & Haifea R
S| W v ¥ s v 3

3. Wl & W I T ¥ o wen-qfs
OMR JR-¥IC & WAUFIGES 2 &) ar
ye-gftae el o e A e M Al
v® A 3t AR va e & ar 3 Rl 3
B B B, 7 e w@w Al

-(!hﬁﬁ'r:ﬂﬁwgg

https://www.dbrauonline.com



1.

5./

324/8/2021

Test cases should uncover ermors like
(A) Non-Existent loop termination
(8) Comparison of different data
types
(C) Incorrect logical operators or
Functions
(D) Al of the above
CASE Stands for:
(A) Computer
Engineering
(8) Computer Application Software
Engineering
(C) Computer Aid
Enhancement
(D) Computer
Enhancement
Which Type of testing is performed by
developer at coding time only:
(A) Integration testing
(B) Alpha testing
(C) Unit testing
(D) Modute testing
Which type of following are involved
as parameters to compute total cost
of a Software development:
(A) Hardware & software cost
(B) Effort & Engineering cost
(C) Travel & Training cost
(D) All of the above
COCOMO stands for:
(A) Common control model
(8) Constructive cost model
(C) Common cost model
(D) Constructive control model

Aided Software

Software

Aided Software

(3]
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(A) O o wamey e o g 4 w0 &)

(8) Rftm z11 Types B qprn

(C) T Logical Jfazd o1 e

(D) s et

(A) Computer Aided  Softwa
Engineering

(B) Computer Application Software
Engineering

(C) Computer
Enhancement

(D) Computer Aided  Software
Enhancement

Developer gRI 2T TR B TR

testing 3 St &:

(A) Integration testing

(B) Alpha testing

(C) Unit testing

(D) Module testing

frm & & w7 iR 3t e A Sotware

Development 2 1 ey Fpery 3 wges

R &

(A) Hardware a1 Software cost

(B) Effort U1 Engineering cost

(C) Travel @1 Training cost

(D) 3wvs o

COCOMQ-~=~-<=== -

(A) Common control model

(B) Constructive cost model

(C) Common cost model

(D) Constructive control model
PT.0.
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6.. Visual Basic is a tool that allows you to
~ develop application n_____

(A) Character user interface

(8) Real time interface

(C) Graphical user interface

(D) Al of the above

7. IDE stands for
(A) Internet Developmg_'lt
Environment
(B) Integrated Development
Environment

(C) Integrated Desktop Environment
(D) Integrated Dual Environment
Which window displays a list of all
forms and modules making up an
application:
(A) Properties window
(,,B) Form layout window
(C) Project window
(D) All of the above
Which of the following is main
Building Block to develop visual Basic
application:
(A) Form window
(B) Project window
(C) Properties window
(D) All of the above
1&/ Which of the following provides quick
access to commonly used commands

in the Programming Environment:
(A) Tool Box
(B Object Browser
Tool Bar
(D) None of the above

o

324/B/2021
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10.

HeE P &
tion
o Apg::a user interface
(A)
(B) Real time interface
(C) Graphlcal user interface
(D) All of the above
IDE .-
(A) Internet Development
gnvironment I
(B) Integrated Development

Environment -
(C) Integrated Desktop Environment

(D) Integrated pual Environment

Hﬂq?ﬁﬁ@cﬁﬂﬁﬁﬂﬁai Forms aap
Modules @ &I Rt &

(A) Properties window

(B) Form layout window

(C) Project window

(D) RIS T4

fra & ¥ ol w1 faope 3RS Telivem
M A 1= aﬂﬁa;r Pryrar 2

(A) Form window

(B) Project window

(C) Properties window

(D) TR wly

et & ?;aﬂq I
PAVEH B R AT a=amEr ;
e & 2, dmfim
(A) Tool Box

(B) Object Browser
(C) Tool Bar

(D) wves & v
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1&4 In winaow we can wrice 11, W -eeeeenas rAUE 7 W8 I 93 T

code. (A) Immediate window
(A) Immediate window

(B) Locals window
(C) Debug window

(B) Locals window

(C) Debug window

(P) Code Editor window (D) Code Editor window
12/ The form module has file extension: 12. Form Module 3T BTEN CATEL -------- [
(A) .frb (A) . frb
(B) .fra (B) .fra
(Q .fmm (C) .frm
(0) .frv (D) . frv
13. is used to find about objects,  13. 3TENTT, MUEIS T&T Methods B ggn #----
properties and methods. e ¥anT 2 21
(A) Object Browser (A) Object Browser
(B) Window Browser (B) Window Browser
(C) Code Editor window (C) Code Editor window
(D) Form Layout Window (D) Form Layout Window
14, Control is used to provide 14. 37 Controls ¥ foT vgaM 19 I WE
an identifiable grouping for other B WA BA T ooeomeeemmecanes Controls
controlis: T g &
(A) Frame (A) Frame
(B) Label (B) Label
(C) List Box (C) List Box

(D) Common Button

Text @ @™ & ----ee- Control @ W
gar # A Jwm B A T e

(D) Common Button
15 Control Is used to display 13
text, but user cannot change it directly.

tRadw 78 ax wwa|
(A) Text Box (A) Text Box
(B) Label Box ~ (B) Label Box
(C) List Box (C) List Box
(D) Command Button (D) Command Button
324/8/2021 [§] PTO.
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It BT THY w
16. The default date type for visual basic 16, s dRe & e Defad za

Yo

S " N

(A) Integer (A) Integer

(B) Boolean (8) Boolean

(C) String () String

(D) Varient (D) Vaﬁenlmysﬁwﬁwm
7 Arrays can be relized at any 17, memmmmemeT .

time. : e T ST

(A) Fixed (A) Fixed

(B) Multidimentional
(C) Control Array

(D) Dynamic

(B) Multidimentional
(C) Control Array

Dynamic
- 1B. :VD:at i: the output of the following 1. Fer o o1 T eI s
Code Mystring = "Hello world"
Mystring = "Hello world" Leftstring= left (Mystring,5)
Leftstring= left (Mystring,5) (A) Hell
(A) Hel (B) Hello
(B) Hello
(C) World (C) World
(D) Worl (D) Worl
19.. ___Combines the features of the  19. Text box T List Box & ferang------
" Text box and list box. ----FIfEa aRal 2.
(4) Combo Box (A) Combo Box
(B) Picture Box (B) Picture Box
(C) Check Box (C) Check Box
(D) Option Box (D) Option Box
20/ Controls are that are  20. 3 f&% Form W fod Iy & ---- oo
placed on Form. @@H 2 &
(A) Variables (A) Variables
(®) Objects (B) Objects
(C) Picture (C) Picture
(D) None of the above ' (D) IRB QA aﬁg Tt?‘
324/8/2021 (6]
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éﬂ‘/ do not return a vaiue.
(A) Sub Procedure
(B) Function procedure
(C) Property Procedure
(D) All of the above
22. What properties are Required to be
specified for a menu item:
(A) Name
(B) Caption
(C) Both (A) and (B)
(D) None of the above

23. Method used to load or import

a text file or .rtf file into a rich text box
control:

(A) Load

(B) Load file

(C) Import

(D) None of the above

i!j» Displays a list of the files in
the current directory or sub directory:
(A) Drivelist Box

(B) Filelist Box

(€) Dirlist Box

(D) All of the above

25. If you declare an array in a module

and you want every procedures to
access it, then declare it as
(A) Public

(B) Private

(C) Both (A) & (B)

(D) None of the above

324/8/2021

21,

22,

23.

24,

25.

[71

3 5 value aow T awer enennon.
-- FTHT '!:

(A) Sub Procedure

(B) Function procedure

(C) Property Procedure

(D) Iwres w3t
Eﬂiﬂquemkﬁﬂlﬂﬂ'—lﬁ_
Properties Hraga® A & -
(A) Name

(B) Caption

(C) (A) @ (B) 2=

(D) IRIeH J B T

Rich text box BUgya ¥ Text 1. rtf e
BN T & e B A Method @1 s 2
2,

(A) Load

(B) Load file

(C) Import

(D) IR T B T/

gIHM Directory a1 Sub Directory &
BT B q R ¥ B s
Bl & :

(A) Drivelist Box

(B) Filelist Box

(C) Dirlist Box

(D) Iuwres Wit

afe 19 tB Module # U8 Array Declare

a<a & 3R 3y Tred & {5 A ¥ Procedures
¥y B 57 95, 7@ N declare
Ll

(A) Public

(B) Private

(C) (A) @ (B) AFN

(D) TR A I T

P.1.0.
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26.

27.

28.

29.

2/

Mouse down event takes place, when
you do

(A) Click the left Mmouse button
(B) Press the mouse button

(C) Mouse Is moved over the control
(D) All of the above

Property is used to check
whether the object Is active or deactive.

(A) Visible

(B) Enabled

(C) Name

(D) Dragmode

————Is an action Recognized by a
form or the control.

(A) Property

(B) Method

(C) Procedure

(D) Event
An alternative of Java script on windows

platform is
(A) ASP
(B) ISP
(C) VB Script

(D) Free Script

Which Tag Is used to display a picture?

(A) Picture
(8) Image
(C) Photo

(P) Img

. 28,

(8]

27.

30.

@ §
(A) Left mouse button click o

(B) Mouse button ZarY &
(C) TEA & FR "3H g &

(D) I Wt
......... Pmpertymﬁgl W

Rz 5 Object gt & ar 781
(A) Visible
(B) Enabled

(C) Name

(D) Dragmode

Form &T Control gRT TR ATEAT-----------
% Action #

(A) Property

(B) Method

(C) Procedure

(D) Event

R deonf @------------v Java script
&7 dopfeas wy &

(A) ASP

(B) ISP

(C) VB Script

(D) Free Script

Picture f&@m & fire 2% Tag wam Ben
L

(A) Picture

(B) Image

(C) Photo

(D) Img
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%'IAIASI <B>tag works,what is the other
tag to make text bold?
(A) <Strong>
(B) <Dark>
(C) <Black>
(D) <Head>
32¢"Which tag allows you to add a Row in
| a table?
(A) <TD> and </TD>
(B) <CR> and </CR>
(C) <TH> and </TH>
AD) <TR> and </TR>
_\3}/What is file extension of HTML code
file.
(A) .HTM
(B) .HTML
§€) Both () and (B)
(D) None of the above
34 What is the correct HTML for adding a
background color?
(A) <Body Backcolor="yellow">
(B) <Body Bgcolor="yellow">
(C) <Body color="yellow">
(D) <Body Background="yellow">
What is correct HTML tag to insert a
line break:
(A)Y" <HR>
(B) <LB>
(C) <BR>
(D) <BREAK>
324/8/2021

~

31.

32,

33.

34.

N<B>Tagemaa &, A= =
3] tag text T Bold AT &

(A) <Strong>

(B) <Dark>

(C) <Black>

(D) <Head>

P A tag 1T table ¥ v TET A &
ford s

(A) <TD> «ur </TD>

(B) <CR> a9 </CR>

(C) <TH> Tl </TH>

(D) <TR> @9 </TR>

HTML ®'g BEa & a1 Extension &|

(A) .HTM

(B) .HTML

(C) - (A) @ (B) A

(D) IR ¥ B T8

Background &eR & fore @ w1 W@ HTML
Tag &

(A) <Body Backcolor="yellow">

(B) <Body Bgcolor="yellow">

(C) <Body color="yellow">

(D) <Body Background="yellow">
S a8 Break T & fow 37 w1 HTML
Tag ol &,

(A) <HR>

(B) <LB>

(C) <BR>

(D) <BREAK>

P.T.0,
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36. Which of the following is a valld in 38 Rrer i & i AenfE vBscript specifier
i VBScript specifier? LS
(A) Dim (A) Dim
(B) Public (B) Public
(C) Private (C) Private
(D) Al of the above (D) 3 t T
37. Which of the following is used to create 37, P A 9 it i vBScript constan
a constant in VBScript? & B 2l
(A) Constant (A) Constant
(B) Const (B) Const
(C} Final (C) Final
(D) None of the above (D) None of the above
38. What is the output of A+B in VBScript 38. VBScript ¥ A+B &I an 3TIC m’aﬁ
if A="VB" and B="Script"? A="VB" @1 B="Script" & aI -
(A) NuLL (A) NULL
(B) vBScript (B) VBScript
(C) Error (C) Error
(D) All are wrong (D) | N R
39. What is true about microprocessor? 39. WIEHEMRAGR & aR ¥ 4T 98 8P
(A) Microprocessor is a controlling (A) Microprocessor U® nsaﬁﬁmm G
unit of a micro program FUgIE give Bl
(B) It is fabricated on a small chip for (B) T& ALU operations & fore 8ié) g
ALU operations R & = 2
(C) It also communicate with other (C) W&’ =g 3{% w I R
devices connected to It communicate FRE &
(D) Al of the above (D) IR w
g(/;dicroprocessor consists of: 40. Microprocessor % e g1 #---.......
) (A) AW

(A) ALU

(B) Register Array

(C) Control Unit

() All of the above
324/8/2021

(B) Register Array
(C) Control Unit

(D) Twires i
[10]
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41, Which of the following is not a features

42.

43.

of a microprocessor:

(A) Versatility

(B) Reliability

(C) Low Bandwidth

(D) Low Power consumption

Which of the following are correct

characteristics of RISC?

(A) It consists of simple instruction

(B) It supports various data-type
formats

(C) It supports Register to\use in any
context

(D) All of the above )

Which of the following are incorrect

characteristics of CISC?

(A) Variety of addressing modes

(B) Vvariable length of instruction
format -

(C) Instruction-decoding logic is
complex

(D) Small Number of Instructions

‘y./ 8085 Microprocessor is an 8-bit

microprocessor designed by?
(A) 18M
(B) Dell

@ Intel

(D) VAX

Cache memory acts between
(A) CPU and RAM

(B) RAM and ROM

(C) CPU and Disks

(D) All of the above

324/8/2021

41,

42.

45,

(1]

o1 & ¥ 3 W Microprocessor #

v =t &:

(A) W vl

(B) frawiraar

(C) P Bandwidth

(D) Fr= foreh &) wua

PR3 wriscmad o,

(A) T® WURYT Instruction B wHika
B &

(B) 7€ ¥EA WX Data-type ¥R B
wEa B & _

(C) TE Register 3 &4 +iY areter 3% wdm
% s &

(D) IR I

fa I sl 9@ cisc & o -

(A) g aR€ & Addressing modes
(B) Instruction Format @ @=heh araré

(C) Instruction @ Decode A 1 A

LR
(D) Instruction & &% IS
8085 Microprocessor ©F  8-bit

microprocessor &, F &--------- R At
s man &1

(A) 18M

(B) Dell

(C) Intel

(D) VAX

-------- ¥ € & Cache #rd v owh &
(A) CPU a1 RAM
(B) RAM &1 ROM
(C) CPU aul Disks
(D) Iwres T
P.1.0.
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46. Flip-Flop is binary cell capabie of
storing information of

(A) One Bit

(B) One Byte

(C) Zero Bit

(D) Eight Bits

The operation executes on data stored
in registers is called

47,

(A) Macro operations

(B) Micro operations

(C) Bit operations

(D) All are true

Which of the following is not a features
of 80867

(A)
(B)
(C)

48.

It uses two stages of pipelining
It is available in three versions
Fetch stage can prefetch upto 6
bytes of instructions

(D) It has 512 vectored interrupts.
The
operand is denoted in an instruction is

49, different ways in which a source

known as

(A) Instruction set

(B) Interrupts

(C) 8086 configurations

(D) Addressing modes

50.¢In Assembly language programming
minimum number of operands required
for an instruction is/are:

(Aj Zero

(B) One

(C) Two

(D) Three

47,

49,

50.

r1o1

o Flip-Flop g4 ¥ & 1
Wﬁaﬁﬂﬂgmﬁmm

(A) U Bit
(B) ©® Byte
(C) IR Bit

(D) 3G Bits
a8 HRYA 3 Registers # FURKT BT W

Execute 81T &.

(A) Macro operations

(B) Micro operations

(C) Bit operations

(D) e EaR

formr & & i < 8086 B fardhwa @Y &
(A) TE pipelining @ A TR YW &al

2

(B) T& &1 TaRon ¥ Juere &

(C) T RS 6 bytes a® @I instructions
D NPT IR T &

(D) ¥E 512 vectored interrupt I 2|
¥P Instruction # W 3qRvs e =@
% Raman 31 g@ar &, age-eeoe-- BRI 8-
(A) Instruction set

(B) Interrupts

(C) 8086 configurations

(D) Addressing modes

Assembly Language Programming #,
B Instruction ¥ &y §
=1 ®H operands &l

(A) =1
(B) v
(C) &

(D) &

https://www.dbrauonline.com



51. In which addressing mode the operand

52.

53.

SJ/ DMA stands for

55.

is given explicitly in the instruction:

(A) Absolute

(B) Immediate

(C) Indirect

(D) Direct

Register keeps track of the

instructions of program stored in

memory:

(A) Address Register

(B) Index Register

(C) Program Counter

(D) Accumulator

Assembly Language

(A) Uses Alphabetic codes in place of
Binary number

(B) It is easiest language to write
program

(C) Not need to translate in machine
Language

(D) All of above

(A) Display Memory Access
(B) Direct Memory Access

(C) Device Memory Access

(D) Directive Memory Access
In memory Mapped 7/0 system,
of the following will not be these?

which

(A) LDA
(8) IN

(C) ADD
(D) ouT

ansIm AN

51,

52.

53.

54.

55.

[13]

@ Instruction ¥, R4 Addressing mode
R 3RoE 3enT ¥ frar v &

(A) Absolute

(8) Immediate

(C) Indirect

(D) Direct
#ARY 3 ¥Iéa Program @t Instructions

o fffea &= amen------ Register R &|
(A) Address Register

(B) Index Register

(C) Program counter

(D) Accumulator

(A) TR HE @ 3T Alphabetic

codes WY Bl &1
(8) T s forer & R s )
(C) e Language ¥ TRafid T H

HaTadar A 8l
(D) IR T

DMA 8l &---------

(A) Display Memory Access
(B) Direct Memory Access
(C) Device Memory Access

(D) Directive Memory Access

P.T.0.
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56. Which one of the following Is the

address generated by CPU?
(A) Physical address

(B) Absolute address

(C) Logical address

(D) None of the above

57. Run time mapping from virtual to

physical address is done by .

(A) Memory Management Unit

(B) CPU
(C) PC

(D) None of the above

58. Type of computer data transmission

which uses a clock to control the timing
of bit being sent is:

(A) Synchronous
(B) Parallel

(C) Asynchronous

(D) Serial

59. Assembly program always deals with

(A) Logical Address
(B) Absolute Address
(C) Physical Address
(D) Relative Address

v

(A) Common
computers

y./ CISC stands for_______:

Instruction

set

(8) Complex instruction set compilers

(C) Compound
complilers
(D). Complex
~/
computers

324/B8/2021

instruction

instruction

set

set

[(14]

57.

59.

60.

Prer % & @19 €1 Address, CPU BRI ity

e e &

(A) Physical address

(B) Absolute address

(C) Logical address

(D) None of the above

virtual ¥ physical Address Run time

Mapping ----=-====="~

g1 dar &

(A) Memory Management Unit

(B) CPU
(C) PC

(D) IR A B T

& TR 3T SR S S S A

(A) Synchronous

(B) Parallel

(C) Asynchronous

(D) . Serial
Assembly U #EAEM---------- & wam

v &
(A) Logical Address
(B) Absolute Address

©
(D)

Physical Address
Relative Address

CISC -=smmemmmenes & &

(A) Common instruction set
computers

(B) Complex Iinstruction set compilers

(C)

(D)

Compound Instruction set
compilers

Complex instruction set
computers

https://www.dbrauonline.com



61.

6

63.

t64/«

After the completion of DMA transfer
the processor is notified by
(A) Acknowiedge signal
(B) Interrupt signal
(C) DMA signal
)} Ok signal
Which one of the following is not a
network topology:
(A) Star
(B) Ring
(C) Bus
(D) Peer to Peer
Consider the following:
1: Twisted pair cables

2: Microwaves and satellite signals
3: Repeaters

4: Analeg Transmissions

S: Fiber optics

Which of the above is considered
as signal transmission medium in
data communication:

(A) (1) and (5)

(8) (1) and (2)

(€) (1) (2) and (5)

(D) (1) (2) (3) and (5)

The term WAN stands for

(A) Wide Area Net

{B) Wide Area Network

N

(C) Wide Access Network

(D) Wide Access Net

If two networks uses separate
protocols, then both networks can be

linked using
(A) Repeater
(B) Gateway
(3] Bridge
(D) Hub

324/8/2021

61.

62.

63.

64.

5.

[16]

DMA transfer 1 8 % arz, i Notify
v

(A) Acknowledge signal

(B) Interrupt signal

(C) DMA signal

(D) Ok signal

Fra % & B & Jead Topology Th -
(A) Star

(B) Ring

(C) Bus

(D) Peer to Peer

e o &

Twisted pair cables

Microwaves and satellite signals
Repeaters

Analog Transmissions

Fiber optics

IR ¥ ¥ P W oA SR
SY[IBIH # Reeer WM aren Areaw
g

(A) (1)@ (5)

(B) (1)@ (2)

(C) (1) (2)auw (5)

(D) (1) (2) (3) @ (5)

WAN #-

(A) Wide Area Net

(B) Wide Area Network

(C) Wide Access Network

(D) Wide Access Net

A -

g 2 ead HET-HOW NEBT FENT Bk
o 2F FadE B e ORI gt
1w &

(A) Repeater
(B) Gateway
(C) Bridge
(D) Hub
PT.0.
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66. Correct the order OSI Layers: 66. OSI AR BT BH W
physical,  Network

(A) Datalink, Physical, Network, (A) Datalink,
Application Application
(B) Network, Session, Transport, (B) Network, Session, Transport,
Datalink Datalink
(C) Transport, Application, Network (C) Transport, Application, Network
Datalink Datalink
(D) Application, Transport, Network (D) Application, Transport, Network
Datalink Datalink
67. is a technology that connects 67. ---eeeeeeee- D W & 3t ‘H’Q’Iﬁ Ral
the machines and people within a S B v B e A S # S 2
small site area: (A) LAN
(A) LAN
(B) MAN (B) MAN
(C) WAN (C) WAN
(D) All of the above (D) IWE T
68. is a collection of point-to- 68. co--eeesnsa- s Gige-g, Ulse o 9 g, S @t
point links that may form a circle: vE BRT ¥ & &:
(A) Bus Topology (A) Bus Topology
(B) Star Topology (B) Star Topology
(C) Ring Topology (C) Ring Topology
(D) None of the above (D) IRI® I B T&
69. Select the correct statement: 69. WAl BT T
(A) Half Duplex can transmit data (A) Half duplex ¥ B1€T U AR ¥ U Side
from one side at a time ¥ W 51 e B
(B) Full Duplex can transmit data (B) Full duplex % 3121 U TR ¥ 2R 78
from both sides at a time A W S ween &
(C) AT B &=t w&

(C) Both A & B are true
(D) Both A & B are false (D) AT B AWt e

\7.'9'/ TCP protocol work on which Layer of  70. OSI & 5 3R W TCP WYt sm w5t

0SI model: : L1

(A) Presentation (A) Presentation

(B) Transport (B) Transport

(C) Network (C) Network

(D) Data link (D) Data link
324/B/2021 [18]
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71

L=

72.

73.

74.

»* IP protocol work on which Layer of OS]

model:

(A) Transport

(B) Physical

(C) Application

(D) Network

A data base management system is a:
(A) Collection of interrelated data
(B) Collection of programs to access
data

(C) Collection of data describing one
particular enterprise

(D) Al of the above

Disadvantages of file system to store
data is:

(A) Data Redundancy

(B) Data Inconsistency

(C) Data isolation

(D) Ali of the above

Which of the following refers to the
level of data abstraction that describes
exactly now the data actually stored?
(A) Conceptual level

(B) Physical level

(C) File level

D) Logical level

\7,5-/ The term "Data” refers to:

Electronic Representation of

Information

Basic Information
Row Facts and Flgures
Both (A) and (C)

(A)

(8)
©
(D)

324/8/2021

71,

72,

73.

74,

75.

[17]

OSI 5% ¥R R 1P protocol wrd wcdh
t

(A) Transport

(B) Physical

(C) Application

(D) Network

U Data base #3anfz feen &

(A) &R grafua g o T

(B) 21 @ ¥ & five omw = wuw

(C) v 5t W & zr ¥ R
B

(D) IRrE Wi

BT B HUE B & e File system &

(A) Data Redundancy
(B) Data Inconsistency
(C) Data Issolation
(D) IRres T

frr # ¥ @9 1 s Abstraction ®

gt t, 3 3 3 v & @ e s
rafds ¥ % HY =R am

(A) Conceptual level
(B) Physical level
(C) File level

(D) Logical level

L1 B L&
(A) STFRER! &1 Electronic SRRIAET

() yPramd IRy
(€) ol g 3 AR,

(D) AawCaR

P.T.0.
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?ﬁl Rows of relation are known as the___

: (A) Degree

(B) Tuples

(C) Entity

(D) All of the above

77. ADBA is reffered to as

\/:.)q) Data Bank Administrator
(B) Data Base Administrator
(C) Data Base Admition

(D) Data Bank Admition

MWhich one of the following is a type of  78.

a Data Manipulation command?
(A) Create
(B) Alter
‘(’(,."J Delete
(D) All of the above
79. Which of the following command is
a type of data definition language
command?
(A) Create

(B) Update
(C) Delete

(D) Merge
8& The Term TCL Stands for
(A) Transaction Central Language

(B) Transmission Control Language

(C) Transaction Control Language

(D) Transmission Central Language

(18]

324/8/2021

76. Rows & a9

(A) Degree
(B) Tuples
(C) Entity
(D) FRres Wl

77. DBA----=---=-m==m===" 3
(A) Data Bank Administrator

(B) Data Base Administrator
(C) Data Base Admition
(D) Data Bank Admition
fr 3 ¥ & @ 3T Manipulation $HIS
&
(A) Create
(B) Alter
(C) Delete
(D) IR¥E a¥t
79. = % & #9317 Definition Language
TS &:
(A) Create
(B) Update
(C) Delete
(D) Merge
80. TCL &-----remmmrmemennnes
(A) Transaction Central Language
(B) Transmission Control Language

(C) Transaction Control Language

(D) Transmission Central Language

https://www.dbrauonline.com



3}/ Which of the following commands

is used to save any transaction
permanently into the database?

(A) Commit

(B) Roll Back

(C) Save point

(D) Flash

Eg/f‘he term SQL stands for :

o

@ﬁ.

'85

(A) Standard Query Language
(B) Sequential Query Language
(C) Structured Query Language

(D) Stateful Query Language
o

Architecture of a database can be
viewed as the

(A) One-level

(B) Two-level

(C) Three-level

(D) Four-level

Which of the following key is generally
used to represents the relationships
between the tables?

() Primary key

(B) Foreign key

(C) Secondary key

10) Candidate key

"Which one of the following is commonly
used to define the overall design of the
database?

(A) Application Program

(B) DML

(C) Schema

(D) Source code

324/8/2021

81.

82.

83.

84.

85.

[19]

F=r % 3 # & 3mws Transaction #
BT & il ¥ ¥ Save aw 4 &:

(A) Commit

(B) Roll Back

(C) Save point

(D) Flash

sqQL# :

(A) Standard Query Language
(B) Sequential Query Language
(C) Structured Query Language

(D) State ful Query Language

Database & TG B -------------TE ¥

g 9 &

(A) One-level
(B) Two-level
(C) Three-level

(D) Four-level

Table ¥ e feaer & fore IR AR W
e # 3 B9 [ Key wam ax &
(A)_Primary key

(B) Foreign key

(C) Secondary key

(D) Candidate key

Database % ol f&sme 1 fam & fore 7
R & B W wEE: Fg e &

(A) Application Program

(B) DML

(C) Schema

(D) Source code

P.T.0.
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87.

Is used to modify a column Inside a
table using DDL command-

(A) DROP

(B) UPDATE

(C) ALTER

(D) SET

Which is the type of Integrity Rule:
(A) Entity integrity

(B) Referential integrity

(C) Root integrity

) All of the above
88/ In which ways two tables may be

related: https://'www.dbrauonline.com
(A) One to one relationship
(B) One to many relationship

(C) Many to Many relationship

87.

88.

#aox Table ¥ 3R column T Heliy
ay # wges B

(A) DROP

(B) UPDATE

(C) ALTER

(D) SET

Integrity Rule &4 Y &1 e &-

(A) Entity integrity

(B) Referential integrity

(C) Root integrity

(D) ToRrep |
ﬁi‘!aﬁﬁ‘ilﬁaﬁﬁblesmﬁmﬁm
Bl

(A) One to one relationship

(B) One to many relationship

(C) Many to Many relationship

(D)All of the above (D) IR wiY
89. ;\fhich key used in relational database  89. Relational Database B3 # @ @
design: Key wanT gt &:
(A) Primary key (A) Primary key
(B) Foreign key (B) Foreign key
(C) Candidate key (C) Candidate key
(D) All of the above (D) IR ar
90. What is the first step of SDLC? 90. SDLC &7 92 &R &1 &:
(A) System Design (A) System Design
(8) Coding (B) Coding
(C) System Testing (C) System Testing
(D) Requirement Analysis (D) Requirement Analysis
[20]
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91. What is the maj

92.

93.

: or drawbac
spiral model? | of the

(A) Higher amount of risk analysis

(B) Does not w
ork |
proje well  for small
(C)

Lesser coding time allocation
(D) Strong approval of document
Which of the following option is correct:

(A) The prototype model facilitates
the reusability of components

(B) RAD model facilities reusability of
components

(C) Water fall model is good for any
project size

(D) Both A & B are correct

Which of the following
about SRS is/are true:
(i) SRS is written by customer

(ii) SRS is written by developer

(iii) SRS is a contract between
customer and developer

Only (i) is true

(B) Both (i) and (ii) are true

(C) Only (iii) is true

D) All are true

statements

(A)

94. / The software requirement specification

9s.

known as

is also
specification.
(4) Black-Box

(B8) White-Box

(C) Grey-Box

(D) Blue-Box |
Which one of the following Is 3
functional requirement:

(A) Maintainability

(B) Portability

(C) Robustness

(D) None of the above

324/8/2021

91,

92.

93.

94.

95.

[21]

Spiral mode! =1 Fa% ¥%1 Jaa a1 &
(A) Risk analysis 31 3arzr @

(B) B Projects ¥ frw s =1 @
(C) »fén 2 am g &

(D Documents &1 LEL R L]
Fratagha g el t

(A) Prototype model components ®1
AR W B Y i e #

(B) RAD model components &' Z&RI
T #< f wEas #

(C) Water fall model fase Y @ Project
& foe wdr @

(D) ATurB e & &

FatddosuasSRs s e wdr g &

(i) SRS E® grT foran sman 2

(i) SRS developer gR1 foran Fmar 8

(i) SRS WS @M developer & T T
g 2

(A) &ad (i) T &

(B) (i) & (ii) 2t vy &

(C) ¥ae (iil) Te &

(D) IRyee A u& &

Software requirement specification @

(A) Black-Box

(B) White-Box

(C) Grey-Box

(D) Blue-Box

fre=r % A 3 A Functional requirement

[
(A) Maintainability

(B) Portability
(C) Robustness

(D) FRes W D T
PT.0.
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96.

97.

98.

"Consider a system where a heat
sensor detects an intrusion and alerts
the security company”. What kind of a
requirement the system is providing?
(A) Functional

(B) Non-Functional

(C) Known requirement

(D) None of the above

The context Diagram is also known as-

(A) Level-0 DFD

(B) Level-1 DFD

(C) Level-2 DFD

(D} All of the above

The full form of PERT is

(A) Program Evaluation  Rectify

Technique

Program

Technique

Program

Technique

(D) None of the above

Which of the following is true about

software verification?

(A) Verification ensures development
of product is according % design
specifications.

(B) Verification concentrates on
design and system specifications
of product

(C) Both A & B are correct

(D) None of the above

Evaluation  Robust

(8)

Evaluation Review

(©)

100.In which type of Testing: "software

324/B/2021

is compiled as product and then it is
tested as a whole"?

(A) Acceptance Testing

(B) Black Box Testing

(C) Regression Testing

(D) Integration Testing

[22]

97.

98.

100.

'Wﬁmm\ﬁiﬂHeatsensorg
R 2 WS axan & au A = B
i o< & FeeA Rea A B FRA B
o e &

(A) Functional

(B) Non-Functional

(C) Known requirement
(D) 3w ¥ B T
context Diagram-------=""""""
(A) Level-0 DFD

(B) Level-1 DFD

(C) Level-2 DFD

(D) 3Rws &

PERT &1 QRT AT &1 3.

(A) Program  Evaluation
Technique
Program
Technique
Program
Technique
(D) FRD A B T&

¥ P a1 du Software verification
FMATAE:

(A) Verification &0 a1 & &6 Wisae M
design RS & FER &
(B) Verification €I a7 & Higae & W

Rectify

Evaluation Robust

(B)

Evaluation Review

(€

q system specification WX
(C) Aaun B 3T W8 &
(D) IR ¥ B TA
"RTCAaR U Siede D aRE SR B &
au1 v W Test AT & g2 fow axg B
Testing &
(A) Acceptance Testing
(B) Black Box Testing
(C) Regression Testing
(D) Integration Testing
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